BEIHF AOVSX ouT  IN GROSS  HDCP NET
e B ERAAN #B5= #si40 81 12.0/ 69.0
MK = EE 40 38 78 8.0/ 70.0
M BEF A 36 39 | /5| 5.0 70.0
AAE-V NIT-F ) 44 30 | 83 11.0 72.0
b A& 2=EP 39| 41 80 8.0/ 72.0
oz |1 5 43| 42 85 12.0/ 73.0
151 KBy HH 420371 19 0.0 74.0
841 IR R H a4 41 | 85 11.0/ 74.0
L B HE— 42| 41 83 9.0 74.0
105 B &9 38| 39 77 3.0 74.0
114 R&E HE 37| 40 77 3.0 74.0
1240 g EA 38| 38 76/ 1.0 75.0
13 FHIl —EHB 42 44 86 11.0 75.0
14451 & B 4140 811 5.0 76.0
15 |RE B= 46 37 83 6.0 77.0




A BUSX ouT IN GROSS  HDGP NET

2 B IS HRX 46 39 | 8o 15.0 /0.0

25 JF Bl 44] 43 87 17.0 70.0
L F R 50 42, 92 21.0 71.0
M M B 42| 47 89| 18.0 71.0
i EIR Kz 43 44 87 15.0 72.0
6 BA & 41 45 86| 14.0 72.0
52 R =] 48, 43 91 18.0 73.0
8L |/ 2UE 46| 42 88 15.0 73.0
943z REE‘? = 5649 100 30.00 75.0
1043z HH 51 4750 | 97 22.0 75.0
11451 *EZIK TN 50 48 | 98 22.0 76.0
1260 ®B% #A9% 511511 102 26.0 76.0
13650 {ZERE BEST 43| 51 94/ 18.0 76.0
1450 KIFE BF 62 50, 112} 35.0 77.0
156 BT 2 — 477430 90] 13.00 77.0
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B B K RSk 41| 41 82 10.0 72.0
EER XI5 cHUY 20 31 71 4.0 73.0
3L ﬁﬂf* rh3E 49 43 92| 18.0/ 74.0
M & RE 38 38 76/ 2.0 74.0
bl T FIH 38 38 760 2.0 74.0
6L FRIE HBF 41 42 83 9.0 74.0
I §F JILE 41 40 81 5.0 76.0
8 kAR BH | 40 43 83 6.0 71.0
i =8 HFKRT 46 47 | 93 15.0 78.0
10452 Ab)II L F A4, 42 86/ 7.0/ 79.0
11460 2728 =3E 42 42 84 4.0/ 80.0
1242 &=l & 49 47 96/ 15.0/ 81.0
13 A é?a") 45 45 90/ 9.0 81.0
14460 KJII ERHZE 47 48 95 14.0 81.0
156 2l = 50 45/ | 95/ 13.00 82.0




